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Please check that this question paper contains 16 printed pages.

Code number given on the right hand side of the question paper should be
written on the title page of the answer-book by the candidate.

Please check that this question paper contains 27 questions.
Please write down the Serial Number of the question before
attempting it.

15 minute time has been allotted to read this question paper. The question
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(i)
(i)
(1it)
(iv)
(v)
(vi)
(vii)

(viii)
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General Instructions :

(i)
(i)
(1i)
(iv)
(v)
(vi)
(vii)

(viii)

The question paper comprises five Sections, A, B, C, D and E. You are to
attempt All the sections.

All questions are compulsory.
Internal choice is given in Sections B, C, D and E.

Questions number 1 and 2 in Section A are one-mark questions. They are
to be answered in one word or in one sentence.

Questions number 3 to 5 in Section B are two-marks questions. These are
to be answered in about 30 words each.

Questions number 6 to 15 in Section C are three-marks questions. These
are to be answered in about 50 words each.

Questions number 16 to 21 in Section D are five-marks questions. These
are to be answered in about 70 words each.

Questions number 22 to 27 in Section E are based on practical skills.
Each question is a two-marks question. These are to be answered in brief.

U A
SECTION A

el W H Iufeyq fereft tmen w1 A fafau |

Name an enzyme present in pancreatic juice.

S T4l I S o HRUT 3T B Tt TG HHTNSH THET 1 3g@ HIT |

Mention the main social problem caused by building large dams.
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SECTION B

3. I3 difcask Afih X A7 TEgEaeh oFd § AMGRAT i W 9 gegaee
30T AT 7 | e T T o U I TaIEd B W ¥Ad @ S 7 |
TR 0T TEAh ATUGRATT oh HfcTd THRIHh THIHWUT fTRaT | 2

A metal compound X reacts with dilute hydrochloric acid to produce brisk
effervescence. The gas evolved forms a white precipitate when passed
through lime water. Write balanced chemical equations involved in the
above mentioned chemical reactions.

4, = <ol U 3G % 9ET A 3R 9T B 1 9 3 I 6 Uh HE (kg | 2

B —¥ Z

A

Write the name and one function each of the parts A and B shown in the
following diagram.

B —» %

A
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YRSl o 3T9ad okl T k1 4IH TARGE | Yehrer <hl =TT o Uel | forelt Hream
& e sgadies & fau s fafu |

YT
YIS 91 © 1-50 AU o shid H YA HAT & | hig H THW H A
giehierd It |
ez e 2 faata & gerter < =T = 3 x 108 mi/s.

State Snell’s law of refraction of light. Write an expression for the

absolute refractive index of a medium in terms of speed of light.
OR

Light enters from air to glass having refractive index 1-50. Calculate the
speed of light in the glass.

Given : The speed of light in vacuum is = 3 x 108 m/s.

qra
SECTION C

6. (2 =& s sl

MHOQ + 4HCl —_— MIlClz + 2H20 + Clz
T 3T 3 TR hl T8 iy |

(b) R AN :
(i) IHF® AR doi GrE-ami § gii-sieEieis fam 9 2 |
(i) I T H voq FHeaR FARISS F T TR F Il & |

(a)  In the following reaction :
MnOy + 4HC1 —— MnCl, + 2H50 + Cl
Identify the oxidant and reductant.

(b)  Give reasons :
1) Antioxidants are added to foods containing fats and oils.

(i1))  White silver chloride turns grey in sunlight.

3111 4
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7.  (a) pH%hd 91 HYAT g ?
(b) 39 IR fafgu |

(¢) pHThd & I=qd R F=ram a1 <l Gefehar &1 3g@ hIfT | 3
CPC)]
(a) AU (SMEH) o Togq-oTqeed l FAR-GR Ulshar o1 had & ? 39
sk # Afffera TEmRfS TR e |
(b) TRl Yo% TG H HIW Hehe o HS SIAASd fsheeddl sl TH foha
T R | foregt 31 Jeqoit B = SR | 3

(a)  What does pH scale measure ?
(b)  Write its range.
(c) State the significance of highest and lowest values of pH scale.
OR
(a)  Why is electrolysis of brine called ‘Chlor-alkali process’ ? Write the
chemical equation involved in this process.

(b) A few crystals of hydrated copper sulphate are heated in a dry
test-tube. Enlist any two observations.

8. ffafRaa awai <t go wises ¥ fou T rfiretern & AR Hifvw
(a) ehform 3t Arggem (g feem)
(b) — dieferm 3wty (fergderoman)
(c) BT 7R hicym (Trsrhdr)
Teh YUl B 379 I T HRUT T, | 3

Compare the following elements as per the characteristics given in the
brackets :

(a)  Lithium and Nitrogen (Atomic radii)
(b)  Potassium and Chlorine (Electronegativity)
(c) Magnesium and Calcium (Valency)
Give reason for your answer in each case.
9.  =IUH I MG I T NG | 37 9T < 19 Afeha T ST&f
(a) &1 3T <l AT g,
(b)  © B HIAAT TIgq AT o &9 | THA LT 7, qAT
() forer ST S o % fere TrETf R § wiEfia 3 = | 3

AT
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11.

fr=r feu 7T gk uTew gHA 1 % fafEu
(a) fo=tfem
(b)  SAifFEH

(c) Ufchfaes o1
Draw a diagram of neuron and name and label the part
(a)  where information is acquired,
(b)  through which information travels as an electric impulse, and
(c) where the electric impulse must be converted into a chemical
signal for onward transmission.
OR

State the function of each of the following plant hormones :
(a)  Gibberellins
(b)  Auxins

(¢) Abscisic acid

(a) SEeW 3R FAGH o e fawgTepl @& 1 ge=h drferh & &9 |
SHTST |
(b)  UTeHl H TAM- o < a9 faifay |

(a)  List in tabular form two differentiating features between xylem
and phloem.

(b)  Write two advantages of transpiration in plants.

20 cm B g8 o fopell It | § Topelt forar 1 fepall gt W Tt ST =nfee
qIfeh $HeT aTdlash JfdioFa & ¥ 30 cm G W YT &1 ? A fodl 4 cm &wall
2, 1 wfafers <1 o Fa IR |

HAUAT
20 cm B8 g % fopHl STadet U & @A fopdl fore 1 el T@l SY difeh
g1 1 AT rafeia et wfdfors yred & 2
How far should an object be placed from a convex lens of focal length
20 cm to obtain its real image at a distance of 30 cm from the lens ?
Determine the height of the image if the object is 4 cm tall.

OR

Where should an object be placed in front of a concave mirror of focal
length 20 cm so as to obtain a two times magnified virtual image of the
object ?

3111 6
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12. = feu mu HeEt i gfee i - 3
(a) Torq Seal o awgati o fAmior § THAT T 1 g TN foham I 8 |
(b) =X wiaei ® oft Hawer 1 ITA A& fohan ST B |
(¢ Taga d=wor § yr: i 3R vgffaem & a1 9 foRer Siar |

Justify the following statements :

(a)  Tungsten is used exclusively for filaments of electric lamps.
(b)  Series arrangement is not used for domestic circuits.

(c) Copper and aluminium wires are usually employed for electricity
transmission.

13. = feu o uftwy § fou 7o gfemigent Ry, Ry 31 Rg & AM $HAM: 10 Q, 20 Q
A 30 Q B, g 12 Vi st & gifsa fopam mon 8 | F=feilRaa =1 afierem
T :

(a) I Ufaliess & YaTfea €,
(b)  UNEY T A FfeRld, qe

(c) UNUY T yaTfed ol amT |

Rq
7 R
W2
R3
AN
/)
+ - —
| F—o—@"

In the circuit given below, the resistors R;, Rg and Rg have the values

10 Q, 20 Q and 30 Q respectively, which have been connected to a
battery of 12 V. Calculate

(a)  the current through each resistor,

(b)  the total circuit resistance, and

(e) the total current in the circuit.

8111 7 P.T.0.
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14. TR Holl 399 S | 3T B 91! 9ishan o1 9W faifge | aifiehe s

% 1§ MG 39FN B a7l & adi shi HE S15T | 98 G SR faRag
ST T8 T W AN FA1 b ITART i 49 10 2 |

Name the process used to generate nuclear energy. List two elements
commonly used for the generation of nuclear energy. Give two reasons
which make the large scale use of nuclear energy prohibitive.

15. (a)
(b)
(a)
(b)

16. (a)
(b)
(c)
(a)
(b)
(c)

3111

fopet STMER S ® "ma: O A1 IR 9 TR Fd 8 | e
HIfST |

Ja AaEe foh8 wEd 3 2 SR I |

A food chain generally has three or four trophic levels. Explain.
What is biological magnification ? Explain.

W g
SECTION D

3 3 91Tt & AW TIRau St 379+ TRl | had TH {4 T g I Bl
STt & |

1p o 3R] o1 3BT diol FHeaTo 3T WS o o= faveq Sifv |
yfife srfirfshan = Bt 8 2 3EehT A ffgu |

Name two metals which are obtained from their ores by simple
heating.

Differentiate between calcination and roasting, taking examples of
zinc ores.

What is thermit reaction ? State its significance.

8
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17. (a)
(b)

(c)

(a)

(b)

(a)
(b)

(c)

(a)

(b)

8111

HAA Y h FoiagH-fog e ST |
= fou T AfRl § IfEU SRR THET i 989 hiT :
i)  CyHgO

(i) CoH4O
SRS 31T wATea o fugor skt dfcen § S Sar 2 | 319es fomm 9
Afee # wured 3R ary & G 1 W = T foRa STar 2 5

A=

T YR B Sifufsean d9 % T staves gt widt 1 3g@ WA §¢
= feu U T i

(i)  UHiel shi TS et |

(i) A A H

(iii) UIHTA 3T WATgeh 3TFA ol TEL |

3ITh |eft EuTaeTt o fou T ATt @6 3g@ oft il |

greAt sl gorT | feetsel (TumTsient) ol WAfiehar & STt 8 | R 2
(I% T B i) 5

Draw electron dot structure of methane molecule.

Identify the functional groups present in the following compounds :
(1) CoHgO
(i) CoH4O
A mixture of oxygen and ethyne is burnt for welding. Why do you

think a mixture of ethyne and air is not used for welding ?
OR

Carry out the following conversions giving complete conditions for
the reaction to take place in each case :

(1) Ethanoic acid from Ethanol

(ii))  Ethane from Ethene

(1i1) Ester from Ethanoic acid and ethanol

Also state the names given to all the above conversions.

Detergents are preferred over soaps. Why ? (Give one reason)

9 P.T.O.
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(a)

(b)

(c)

(a)
(b)

(c)
(a)

(b)

(c)

(a)
(b)

(c)

3111

TEfy sfier i QvEET SHA Rl TEH foen ewid 8, W SFA el
gfshaT o & 39 qHl § e 7
3 ol Tieie § S oh faen gg=nfae o | g1 areft afshansTi o
3eod HINT |
qTegHad (Ieid) Tr8 ed & ? wiHiEn § I8 Wfshan fohe SRR BIdT &
M@ ! FEHAT § T I |
TSI o 39 91 i AW fofge e S a9a § | 3w afitfeafa &
3g@ s frad s 9fg wh 7T g sem @ 2 |

AT
AfiTer F=Rr gry Siram] S fepegl g1 wshuon & AW forfau | 378 s=e
forT TehR fomarm ST TehaT B 2

39 (a) H AT TC U & AT =g T i Ushd H TETEh o
31 U T g SR |
TR TR ! STTAH o T ATl < T SR |

Although Amoeba and Leishmania, both show same mode of

reproduction, but the process of reproduction is carried out in
different ways.

Identify their mode of reproduction and mention the way it is
carried out in the two species.

What is regeneration ? Explain with the help of a diagram how
this process is carried out in Planaria.

Name the part of Rhizopus in which spores are formed.

State the condition under which spores grow into a new individual.
OR

Name any two bacterial infections that are sexually transmitted.
How can they be prevented ?

List three different ways, other than the one stated in (a) above,
that help an individual to avoid unwanted pregnancies.

List three advantages for adopting contraceptive measures.

10
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19. (a)

(b)

(a)

(b)

20. (a)
(b)

(a)
(b)

(a)
(b)

(a)

(b)

8111

e o JANT sl TERET & SISy fh

(i) 01 9T TR 3T & Fehd &, qT

(i) U T ®Y ¥ I 8 8 |

firrslt steran fouespelt it sm™en weft wa =wes & W9 wEw A
afse & | feequft Hifs |

With the help of Mendel’s experiments show that

) traits may be dominant or recessive, and

(i1)  traits are inherited independently.

Birds and bats are more closely related to each other than to
squirrels or lizards. Comment.

AR 9 4 Iufeyrq geAnft uRm i ofiest o1 3g@ i |
= feu MUy yeRt W gfse QY i ggae hIfT SR 3Heh HeneH
ERIRES EELta
() AT <" 1 gl A gaen 8 S
(i) ST <rF T Tohal T FTATYH & AT |
(iii) AT | I Blhd gl 1 AAYH & AET (W § AMh &
M) |
(iv) wgmTH Rl 1 geid & S
T
ITR@ ! TEEAT & TS A oh 36 TN hi AT Hhifve, o 77
YO AT a1 foh T o1 YehTer A1 JuTt & TRt s R |
JYASH A fohdl HEd 7 ? APHSH AFad T UG @
STehicieh RT3l <hl FT TATEY |

State the role of ciliary muscles present in our eye.

Identify the defect of vision in each of the following cases and
suggest its corrective measure :

) The eye lens has become milky and cloudy.

(i)  The eye lens has excessive curvature.

(iii) The eye lens has large focal length (longer than normal).

(iv)  Ciliary muscles have weakened.

OR

With the help of diagram explain Isaac Newton’s experiment that
led to the idea that the sunlight is made up of seven colours.

What is atmospheric refraction ? List two natural phenomena
based on atmospheric refraction.

11 P.T.O.
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(a) 3 el & W@ Ush-geR w1 et ot wfresfea s € sl 2 e
HIT |

(b)  TorEll amETE ATGATICToRT o iR o Jraeh™ & ol THEHM hal ST & |
1 2

(¢)  TATHT ohT aHEEa am fafgu |

(d) SAEETRe Hiel i wih H ghg HE ATl G HhI I gt S18T |

(a) Why don’t two magnetic field lines ever intersect each other ?
Explain.

(b)  “The magnetic field is said to be uniform inside a current carrying
solenoid.” Why ?

(c) State Fleming’s left hand rule.
(d)  Enlist two factors that enhance the power of commercial motors.
HET I
SECTION E
T g wEAfeEl ¥ fae U dF fim TEe faaeHt X, Y o Z ° %8 8
grafieh I hl P o MWl 8, AN Ig Y0 Hal g b faem &1 @
giafdd g X H g0, Y8 e 3 Z 8 e 8t T g |
(a) Too=dl X, Y 3 Z 1 39 pH & ¥ed (TR shH § =¥afeaq hifer |
(b) 3 i foerEl X, Y R Z 8 9 w9 faea Seiewdfer & @ ol
giafda am IR F=i 2

STt
B Hohe & FSHY oM % 99 IO g9 Il 9 % gees o
(a) e frem foferg o3 3T (b) Tfie o foTemd 99 @F W his o1 =1 J&q0
AT & 3 1 Fend Fehreran 7, 36 3@ HIfNT |

On adding a few drops of universal indicator in three colourless solutions
X, Y and Z taken separately in three test tubes, a student observed the
changes in colour as green in X, red in Y and blue in Z.

(a) Arrange X, Y and Z in increasing order of their pH values.
(b)  Which one of the three, X, Y and Z, will change the colour of
phenolphthalein ? Why ?
OR
State the observation and inference made by a student when he brings

(i) a wet blue litmus paper and (ii) a wet red litmus paper in contact with
the gas liberated during thermal decomposition of ferrous sulphate.

3111 12
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23. R Yk WEHfEl I, I1, IIT 3R IV § %8 Hothe H Hiohl 50 e T
AR, 11, 111 3R IV ® A9 Cu, Zn 3R Al % & 1t MU | fohm/foa

JeRUUT/TehTTl T

(a) 8 Fothe oot o1 U1 wEHett (1) o foe™H o U1 & gad o ?
I T |

(b) HE "ok fIe@A &1 U1 HIhT (Fod) & TN a1 a1gei % IS W
shren gerd frafua g srem 2 2

A pale green solution of ferrous sulphate was taken in four separate test
tubes marked I, II, III and IV. Pieces of Cu, Zn and Al were dropped in
test tubes II, IIT and IV respectively. In which case(s)

(a)  the colour of ferrous sulphate solution will match with the colour
in test tube (I) ? Give reason.

(b)  the colour of ferrous sulphate solution will fade and black mass
will be deposited on the surface of the metal ?

24, 15 1 fgdiasht dial S i ST =mEar 8 | 38 foe =m =@ o6 3fa
4 H Ty qfes a1 @&t @1 | A i H Heb | 2

Jrra
Fr= feu U R TEETHT TR 35 W Afehd W A, B3R C A fafgw ;. 2

8111 13 P.T.0.
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A student wants to germinate dicot seeds. Write the four steps in correct

sequence that will help him to perform the experiment in the right way.

OR
Identify the following diagram and name the parts marked as A, B and C :

25. T8 TS YN sHaee |,
(a) Y WEAel § R ugrd X 3R Iearhr s H deft § W uerd Y
Tm fafe |
(b) Term el T ST BT TR SW F=A I3 1T B 2

3111 14
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In the experimental set-up shown,

(a)

(b)

26. (a)

(b)

(a)

(b)

8111

name the material X filled in the small test tube and the material

Y placed at the bottom of the conical flask.

why is there a rise in water level in the delivery tube ?

7= N\

~

— Delivery tube

— Water

foreht B 9 27\ % w1 geTiud S % 98 | I8 9 o fau e
Uter ® Uter Wi g3 124 T * IOM R W 7 | A 39 AR H
08 05A & o= 10 favyreH &, @ 124 faveH & ded®9 THieT i
ISR 1 3 ?

g fereft foregq aftwer § ffen it dieeHiet = fopd yohr TafSIa st
g7

In a given ammeter, a student saw that needle indicates
12th division in ammeter while performing an experiment to verify
Ohm’s law. If ammeter has 10 divisions between 0 to 0-5 A, then
what is the ammeter reading corresponding to 12t division ?

How do you connect an ammeter and a voltmeter in an electric

circuit ?

15 P.T.O.
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27. = fou MU e © <wiiE w8 uiw smufad feRwon # @ oAl ot stufaa feRwelt @t
1A IR S TR o 19 o 1 1 9T hid g¢ Wi T8 8 3T [kt
39T fopefl 3@ @i g1 o Wfdfers <At fedrfa sra e # fopam S ehar 2 |
3 2l TRl o1 I fohelt 3T oiF o Fy @ 2F o o9 feom forelt fomar &6
gfafers 1 feafa, ass iR yfd Ja & | ST |

9F,

A
39 IR AN 1 3fad HA A fARae et arer forel gre fomar w1 fopeft fou

T 3ITA O R & Ufdlers ST shieh 38eh! Hishd gl Fuifd s o feRa
ST =ATET |

Out of the five incident rays shown in the following diagram, find any two
incident rays that are obeying the laws of refraction of light and may be
used for locating the position of the image formed by a convex lens.

Use these two rays in finding the position, size and nature of the image
formed when an object is placed between F; and 2F; of a convex lens.

1
2
3
4

oF,

OR

Write four steps in proper sequence which should be followed in the
determination of focal length of a given convex lens by obtaining a sharp
image of a distant object.

3111 16



